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Add and solve the following:

1. 78¢+10¢= 1. $74+522+=

2. 86¢C+12¢= 2. S6.10+S%4 =

3. 34C+16¢C= 3. S-7+541 -

4. 65C+81C= 4. S8+510-

5. $86+521= 5. $185+5123 =

Solve: An ice cream costs S2 and a pizza costs $5. How much money
does Emma need to pay if she buys 2 pizzas and 1 ice cream?

Answer :

Can you identify the money and write the total value in cents?

CHALLENGE

Solve the questions with the
help of the price list of the
food items.

a.) What is the total cost of 1 milkshake and 1 sandwich?

b.) How much money will Richard pay if he wants 2 sandwiches?
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